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Dhaka Commerce College
1% Mid Term Exam 2020
Class: XI

Subject: English

Time: 30 Minutes

Subject Code: 107 & 108
Total Marks: 30

Multiple Choice Questions (MCQ) Tick Mark Right Ans

1. We shed blood in 1952. What does the word ‘shed’ mean

here?

A. scatter B. exude v C. shadow D. throw

2. All other things will be exempted from the General Strike.

The word ‘exempted’ can be replaced by

A. included B. enlisted

C. discharged v D. integrated

3. Mandela never lost his resolve to fight for his people’s

emancipation. What is the antonym of the word

‘emancipation’?

A. freedom B. liberation

C. independence D. confinement v

4. Mandela went on to play prominent role on the world

stage. What is the antonym of the word ‘prominent’?

A. great B. insignificant v

C. distinguished D. eminent

5. Columbia disintegrated over Texas during its re-entry into

the Earth’s atmosphere. What does the word ‘disintegrated’

mean here?

A. staved v B. mobilized

C. united D. connected

6. Bengal’s history of twenty-three years is full of stories of
inflicted on our people.

A. enjoyment B. success

C. torture v D. courage

7. Mandela was determined to bring down while
avoiding a civil war.

A. solidarity B. unity

C. hatred D. apartheid v

8. Vostok-6 was the final Vostok flight and was two
days after Vostok-5.

A. finalized B. destroyed

C. legalized D. launched v

9. Chawla was responsible for the Spartan Satellite
which however malfunctioned.

A. making B. destroying

C. deploying v D. moving

10. There have been changes in the types of
entertainment over time.
A. insignificant

C. significant v

B. ordinary
D. common

11. The danger of smoking is description

A. at B. beyond v C.of D.on

12. Man abides society.

A.inv B. by C.on D. at
13. An honest man does not deviate the path of
honesty.

A. fromv B. of C.in D. to

14. Some writers sink oblivion in course of time.
A.on B. from C. under D.intov
15. Please leave your key the reception.

A.in B. on C.atv D. with
16. The groom arrived at the community center

exactly time.

A.in B. for C. by D.onv

17. It is high time we the significance of learning
English.

A. realize B. realized v

C. are realized D. can realize

18. United efforts

women.

A. require B. requires

C. are required D. have required
19. My friend arrived at my house while |
television.

A. was watching v
C. would watch

20. Would you mind

to put an end to violence against

B. watched
D. had watched
a cup of coffee at my place?

A. to have B. have C. having v D. for having

21. Student politics very common in the educational
institutes.

Alisv B. are C. have to be D. are to be

22. All of the people at the school, including the teachers and
were glad when summer break came.

A. students: B. students, v

C. students; D. students

23. They asked what time the department store would open

A ? B. . v C., D. ;
24. Choose the sentence below with the correct punctuation.

A. Tinaand Mina, who had been friends for years, went on
vacation together every summer. v

B. Tina and Mina, who had been friends for years, went on
vacation together, every summer.

C. Tina, and Mina who had been friends for years, went on
vacation together every summer.

D. Tina and Mina who had been friends for years went on
vacation together every summer.

25. In Edgar Allen Poe’s
Allen Poe describes a man with a guilty conscience.
A. short story, “The Tell-Tale Heart,” v
B. short story The Tell-Tale Heart,
C. short story, The Tell-Tale Heart
D. short story. “the Tell-Tale Heart,”
26. Which of the following possessives is correctly
punctuated?
A. The library lost all its books. v
B. That’s anyones’ guess.
C. That car is not your’s.
D. That car is not their’s.
27. Bangabandhu told the people to fight against the
of West Pakistan.
A. inspiration B. liberation
C. oppressionv  D. tradition
28. Traffic rules must be maintained strictly with a view to
road accidents.
A. control B. controlling v
C. be controlled D. have controlled
29. llliteracy is a curse. What is the antonym of the word
‘curse’?
A. blessing v B. misfortune
C. imprecation D. torment
30. Tereshkova experienced nausea and physical discomfort
for much of the flight. What is the
closest meaning of the word ‘discomfort’?
A. unhygienic B. rough
C. horrible D. uneasiness v
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Dhaka Commerce College
XI Mid Term Exam 2020
Class: XI

Subject: Information and Communication Technology

Time: 30 Minutes

Multiple Choice Questions (MCQ)

1. Modem work-

i. Modulation and demodulation

ii. Acting as sender and receiver device
iii. Store Information

Which one of the following is correct?

a i ii.v b. i, iii c. ii, iii. d. i, ii, iii
2. The cable known as 10 base 2 is:
a. STP b. UTP c. Thicknet d. Thinnet v

3. An asynchronous transmission has a total of 11 bits per
character. Each character has-

a. 1 start bit and 1 stop bit b. 1start bit and 2 stop bit v
C. 2 start bit and 1 stop bit d. 2 start bit and 2 stop bits
4. In what method is data transferred in block form?

a. Synchronous v b. Asynchronous

c. Voice band d. Broad band

5. 1 kilobyte of data is transferred through a device in 16
seconds, what is the bandwidth of the device?
a. 64 bps b. 128 bps c. 256 bps

6.

0

sy
0

What type of transmission mode is used in the stimulus
image?
a. Half-duplex b. Multicast
c. Broadcast v d. Full-duplex
7. The data transfer mode between a computer and a
multimedia projector is-
a. Simplex v b. Half Duplex
c. Full Duplex d. Multiplex
8. Sub-Inspector Kamal saw the news of a road accident on
television and informed his superiors with the help of walkie-
talkie. Applying to receive news of an accident -
a. Simplex and broadcast v b. Half-duplex and multicast
c. Full-duplex and unicast d. Simplex and unicast
9. The advantages of optical fiber cable are- i. Fast data
transfer ii. Can be installed at low cost iii. Free from electric
and magnetic effects
Which one of the following is correct?
a. i, ii. b.i,iii. v c.ii,iii

d. 512 bps v

c. i, iii. d.i,ii,iii
10. Two security officers of a company communicate with
each other but they cannot talk at the same time. Which data
transmission mode do they use?

a. Simplex b. Half-duplex v c. Full-duplex d. Multiplex
11. Two security officers of a company communicate with
each other but they cannot talk at the same time. The device
they need to communicate at the same time-

i. Mobile ii. Walkie-talkie iii. Radio
Which one of the following is correct?
alv b. ii c.i,ii

12. What is a hotspot?

a. Specific heated area b. Wired internet system
c. Wireless internet system v d. Global network system
13. Which of the following indicates a WiMAX standard?

a. IEEE802.11 b. IEEE802.12

c. IEEE802.15 d. IEEE8B02.16 v

14. Which medium can be used for communication in most
places?

a. Wi-Fi b. WiMax c. Sattelite v d. Bluetooth

(ICT) Subject Code: 275
Total Marks: 30

15. What is bandwidth?

a. Data flow rate v b. The medium of data flow
c. The direction of data flow  d. Method of data flow
16. Which of the following is a source of communication?
a. Modem b. Cable

¢. Computer v d. Telephone line

17. In what process can the sender transmit data instantly?
a. Synchronous b. Asynchronous v

c. Isochronous d. Multicast

18. What are the features of asynchronous transmission?
a. Transmission efficiency is relatively low v

b. Start bit and Stop bit are not required

c. Transmission speed is high

d. Relatively expensive

19. Which of the following is an example of a full duplex
mode?

a. Walkie-talkie b. Radio c. Telephonev d. TV

20. The mode in which data can be transmitted only in one
direction is-

i. Simplex ii. Broadcast iii. Multicast

Which one of the following is correct?

a.iandii  b.iandiii c.iiandiii d.i,iiandiii v
21. What is the maximum data speed of a voice band?
a. 300 bps b. 9600 bpsv c. 9600 kbps  d. 1 Mbps

22. Mr. Asad provides ISP services, he uses fiber optic cable
to provide internet connection to various computer firms. The
advantage of the cable mentioned in the stimulus is-

i. Small in size and very light in weight

ii. Very narrow iii. The antenna is low energy loss
Which one of the following is correct?

a. i, ii. b. i, iii. c. i, iii. d.i, i, iiv
23. Mr. Asad provides ISP services, he uses fiber optic cable
to provide internet connection to various computer firms. The
rationale for using cable in Mr. Asad's organization is-

i. Protects the security and privacy of data storage

ii. More bandwidth

iii. Radiation is not likely to occur from fiber optic cable
Which one of the following is correct?

a. i, ii. b. i, iii. c. ii, iii. d.i, i, iiv
24. The difference between Wi-Fi and WiMAX is-

i. Coverage area ii. Of speed iii. Of standard

Which one of the following is correct?

a. i, ii. b. i, iii. c. ii, iii. d. i, i, iiiv
25. Elements of data communication are-

i. Medium ii. Bandwidth iii. Receiver
Which one of the following is correct?

a. i, ii. b. i, iii. v c. ii, iil. d. i, ii, iii

26. What is used to transfer data from computer to printer?
a. Narrow band b. Voice band v
c. Broad band d. FM band
27. Why is spiral wire is used in coaxial cable?
a. Toprevent EMIvV  b. data is transfer through it
c. control other layer  d. prevent the flow of wrong data
through cable
28. Used in television remote control-
a. Infrared v b. Radio wave
c. Microwave d. Bluetooth
29. The network created with Bluetooth is called-
a.PANV b.LAN c¢. MAN d. WAN
30. Which is the common color in twisted pair cable?
a.Orange b.Green c.Red d.White
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DHAKA COMMERCE COLLEGE
1st Mid Term Exam 2020

Class: XI
Subject; Production Management & Marketing (1 & 2" Paper)

Subject Code: 286 & 287

Full Marks: 30 Time: 30 minutes
Which utility is created by production?
a. FormvY 11. Ohona Fashions limited is a garment items producing
b. Place organization. In the year of 2019, this organization
¢ Time exported garments that worth Tk 24 crore. To produce
d. Service those exported garments, Ohona Fashions had to import

The ability of fulfilling the wants of the people is termed
as-

a. Demand
b. Production
c. Utilityv
d. Exchange

Mr. Akram is a renowned lawyer. He offers various law
related consultancy to different industries. What sort of
utility is created by the activity done by Mr. Akram?

a. Form

b. Possession

c. Place

d. Service v’
Which of the following is included in Production?

a. Selling

b. Product Design v/

c. Exchange

d. Distribution
What is the formula of Productivity?

a. Input/Output

b. Input — Output

c. Output/Input v/

d. Output — Input
The way of increasing productivity is — i. Efficient

Management ii. Better working environment iii.
Better Distribution. Which one is correct?

a. iandii v

b. iandiii

c. iiandiii

d. i iiandiii

Mr. Rahman is a tomato cultivator of Munshiganj. He is
used to sell the tomato produced in his own land at the
local market. In this year, there has been a bumper
production of tomato and local demand went down.
Therefore, he was unable to sell his tomatoes in due time.
As a result, many of his crops were damaged and he faced
a huge loss. To stop the repetition of such condition, Mr.
Rahman needs - i. To create possession utility  ii. To
create place utility  iii. To create time utility. Which of
the following option is correct?

a. landii
b. iandiii
c. iiandiii v
d. i, iiand iii
Which utility is created from buying and selling product?
a. Form
b. Possession v°
c. Place
d. Service

Which one is the most ancient sector of production?
a. Agriculture v/

b. Industries
c. Business
d. Service

10. Entertainment is involved with which sector of production

a. Agriculture

b. Industries

c. Transportation
d. Service v’

12.

RPoo o

14.

15.

16.

raw cloths that worth Tk 8 crore. Besides, they had to
spend TK of 4 crore for labor, 6 crore for the machineries,
50 lakhs for rent of the factory, 1.50 crore for various
other activities. What was the total productivity of the
company in the year 2019?

a. Tk4crore

b. Tk 3 crore

c. Tk25crore

d. Tk1l.2crore v
Ohona Fashions limited is a garment producing
organization. In the year 2019, this organization exported
garments that worth Tk 24 crore. To produce those
exported garments, Ohona Fashions had to import raw
cloths worth Tk 8 crore. Besides, they had to spend 4
crore for labor, 6 crore for the machineries, 50 lakhs for
rent of the factory, 1.50 crore for various other activities.
What was the transformation cost of the company in the
year 2019?
Tk 20 crore
Tk 16 crore
Tk 12 crorev’
Tk 8 crore

. Azmal Publishers Limited printed 50000 copies of book in

the year of 2018 and average price of each book was Tk
200. In that year the organization purchased raw materials
of Tk 12,50,000 for the purpose of printing books. In that
year the organization spent 20,000 hours for labor.
Besides these, the total hour spent on machine and
equipment was 15,000. What was the labor productivity of
the organization in the year of 2018?

a. 1.5units

b. 2 units

c. 2.5unitsv
d. 2.33 units

Azmal Publishers Limited printed 50000 copies of book in
the year of 2018 and average price of each book was Tk
200. In that year the organization purchased raw materials
of Tk 12,50,000 for the purpose of printing books. In that
year the organization spent 20,000 hours for labor.
Besides these, the total hour spent on machine and
equipment was 15,000. What was the material
productivity of the organization in the year of 2018?

a. 0.04 taka

b. 8taka v’
c. 25taka
d. 80 taka

Productivity depends on-

a. Production efficiency v/

b. Production control

c. Quality control

d. Inventory control
Through production- - i. Employment opportunity is
created ii. The task of selling becomes easy iii. The
prices of resources increase. Which of the following
option is correct?

a. iandii

b. iandiii v
c. iiandiii
d. i, iiandiii



17. The including factors of agricultural sector are- - i. Fish
farming  ii. Rearing cattle iii. Making thread by
cotton. Which of the following option is correct?

a. iandii v
b. iandiii
c. iiand iii
d. i, iiandiii

18. What is marketing?

a. Manufacturing product

b. Consumption of product

c. Satisfying consumers v/

d. Developing product

19. What is customer value?

a. Benefit obtained from product

b. Product price

c. Expected benefit

d. Difference between benefit and cost v/
20. Conditions of demand are —

1. Willingness to get a product

2. Buying capacity

3. Willingness to spend money

Which one of the following is correct?

a. iandii
b. iandiii
c. iiandiii
d. i, iiandiii v/
21. From which year era of marketing started?
a. 1860
b. 1920
c. 1950 v/
d. 1970

22. Which one is excluded from the features of marketing?
a. Consumer oriented

b. Exchange oriented

c. Application oriented

d. Production oriented v*

23. Mr. Asif opened a fast food restaurant in front of a college.

He sets the price by considering the buying capacity of the
college students. On which core concept of marketing has
given importance by Mr. Asif?

a. Need

b. Want

c. Demand v’

d. Value

24, Mr. Irfan has established a restaurant “Shahi Mejban”. He
serves traditional foods of Chattogram in his restaurant. That
is why his restaurant got huge popularity. Which core concept
of marketing has been given importance by Mr. Irfan?

a. Need
b. Want v/
c. Demand
d. Satisfaction
25. Mrs. Liya makes nakshi kantha at her home and delivers in
different stores in Dhaka. He considers changing customer
demand in making products. As a result customers get
satisfied. Which feature of marketing has given importance by
Mrs. Liya?
a. Social process
b. Dynamic process v/
c. Integrated process
d. Exchange process
26. What is market?
a. Set of actual and potential customers v/
b. Set of actual and potential sellers
c. Place of buying and selling product and services
d. Set of different products
27. Mr. Kabir is the owner of “Kabir & Co.”. In order to
operate the functions of the company he plans on time. He
also coordinates and controls all the functions to implement
the plan. As a result he has achieved success in a very short
time. Which feature of marketing is similar to the activities of
Mr. Kabir in the stem?
a. Social process
b. Managerial process v/
c¢. Consumer oriented process
d. Communication process
28. Feature of market is-
a. Creation of utility
b. Transfer of utility
c. Increase of utility
d. Consumption of utility v/
29. Parisha Rahman purchased a dress by taka 5,000. She got
huge appreciation from her friends. Though the price is high
she is really very satisfied because the dress is very beautiful
and comfortable. Which core concept of marketing is revealed
in the given stem?
a. Relationship of marketing
b. Demand
c. Customer value v/
d. Customer satisfaction
30. Subjects included in relationship marketing are-
i. Increase of short term profit; ii. Creation of strong
customer relationship; iii. Creation of loyal and stable
customer.
Which one is correct?
a. iandii
b. iandiii
c. diandiii v/
d. i, iiandiii
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DHAKA COMMERCE COLLEGE
1% Term Exam 2020
Class: XI

Subject: Finance, Banking and Insurance 1% & 2™ Paper

Full Marks: 30

Subject Code: 292 & 293
Time: 30 minutes

1. Which one of the following is a source of public
finance?
a. Income tax v’
b. Issuing share
c. Issuing bond
d. Selling goods

2. What is the relationship between liquidity and
profitability?

a. Positive
b. Negative v/
c. Neutral

d. Proportional
3. Finance deals with —
i. Amount of fund
ii. Collection of fund
iii. Disbursement of fund
Which is correct?

a. iandii
b. iandiii
c. iiandiii
d. i, iiandiii v
4. Which of the following is a capital budgeting
decision?

a. Repairing machine
b. Purchase of raw materials
c. Payment of salary
d. Replacement of machine v/
5. What is the relationship between risk and return?

a. Positive v/
b. Negative
c. Neutral

d. Proportional
6. Functions of finance are —
i Capital budgeting decision
ii. Short term asset management
iii. Dividend policy
Which is correct?

a. iandii

b. iandiii

c. iiandiii

d. i, iiandiii v

7. What is called the portion of earnings that distributed
to the shareholders?
a. Net profit
b. Gross profit
c. Dividend v
d. Retained earnings
Read the following stem and answer to the question no. 8 & 9:
ABC Fashion Ltd. borrowed Tk. 50 lacs at 9% interest
from May Bank Ltd. The company has made profit of Tk. 10
lacs in the year of 2019. The total profit has been allocated to
the shareholders. In 2020, the management of the company
observed that they have not sufficient money to buy raw
materials.
8. By not following which principle of finance, ABC
Fashion Ltd. falls in problem to buy raw materials in
20207
a. Principle of liquidity and profitability v/
b. Principle of risk and return
c. Principle of portfolio diversification
d. Principle of time value of money
9. The functions that has done by the ABC Fashion Ltd.
are —
I. Collection of funds
ii. Capital Budgeting
iii. Distribution of funds

Which is correct?
a. iandii
b. iandiii v
c. iiandiii
d. i, iiandiii

10. What is called the finance related to the export and
import business?
a. Public Finance
b. Personal Finance
c. International Finance v/
d. Non business Finance
11. What is meant by wealth maximization?
a) Increase in market value of shares v/
b) Increase in market value of bonds
¢) Increase in EPS
d) Increase in profit
12. What is meant by profit maximization?
a) Increase in market value of shares
b) Increase in EPS v/
c) Increase in present value
d) Increase in future value
Read the Passage below and answer questions number 13 and
14:

Mr. Alam is the financial manager of a large firm. He is
always trying to achieve a goal that focuses on maximizing the
firm's income-expenditure gap.

13. In the language of finance, what is the goal to be followed
by Mr. Alam?

a) Maximization of liability

b) Maximization of expenditure

c) Maximization of profits v/

d) Maximization of resources

14. The limitations of the method followed by Mr. Alam are -
i. Does not consider time value of money

ii. Does not consider cash flows

iii. Does not consider risk

Which of the following is correct?

a)iandii b)iandiii c)iiandiii  d)i,iiandiii v
15. “To keep the environment free from pollution” — includes
in which area of finance?

a) Social responsibility v b) Risk liability

c) Liability for profit d) Sales liability

16. Which one is not scheduled bank?

a) National Bank b) Grameen Bank v/

c) Rupali Bank  d) Dutch Bangla Bank

17. Which one is the main source of bank’s income?

a) Fees b) Commission

c) Interest v/ d) Discounting

18. Which bank provides short term loan?

a) Agriculture Bank b)) Investment Bank

c) Commercial bank v* d) Central Bank

19. ADB is the -

a) Regional Bank v b) International Bank

c) Specialized Bank  d) Community Development Bank
20. The ancestor of bank -

i. Goldsmith

ii. Businessman

iii. Service holders

Which one is correct

a)i&ii v

b) i &iii

C) il & iii

d) i, ii & iii

21. Classification of bank based on structure are -

i. Branch Bank

ii. Chain Bank

iii. Central Bank



Which one is correct?

a) i&ii v
b) i &iii
c) ii &iii
d) i, li &iii
22.Bankisa -

a) Media institution

b) Exchequer

c) Financial institution v/

d) Leader of the economy

Read the following stem and give the answer 8 and 9
Mukta Chowdhury established a bank in Dhaka. The new
bank makes banking easier for local city dwellers. The bank's
activities are limited to one office.

23. What kind of bank has Mukta Chowdhury established?

a) Mixed

b) Group

¢) Regional

d) Unit v/

24. Why people in that area keep their money in bank?

i. For safety and security

ii. For getting more loan

iii. For getting money

Which one is correct?

a)i&ii v

b) i &iii

C) ii & iii

d) i, ii &iii

25. Which organization is responsible for the implementation
of Basel Il in Bangladesh?

a) World Bank

b) Bangladesh Bank v/

c) International Monetary Fund

d) Asian Development Bank

26. Which of the following is a state commercial bank?
a) Pubali bank

b) Janata bank v/

¢) Uttara bank

d) Krishi bank

27. Which year’s bank company act is prevailing in
Bangladesh at present?

a) 2010

b) 1994

c) 1991v

d) 1881

28. Which bank is called the “Mother of Central Bank™?
a) Riks Bank of Sweden

b) Bank of England v/

c) Federal Reserve System

d) Bank of India

29. The functions of bank are -

i. Collection of deposit

ii. Sanctioning Loan

iii. Risk distribution

Which is correct?

a) iandii v
b) iandiii
c) iiandiii
d) i, iiandiii
30. Who issues garnishee order?
a) Debtor
b) Creditor
c) Customer
d) Court v/
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Dhaka Commerce College

1st Mid Term Exam 2020, English Version
Class: XI

Sub: Statistics 1st and 2nd Paper

Subject code: 129, 130
Marks: 30

Time: 30
1. What is the name of the measurement of scale “Age and
height”?
a. Nominal b. Ordinal c. Interval d. Ratio

2. Which one is the example of a qualitative variable?

a. Age b. Height c. Weight d. Intelligent \
3. How many kinds of measurement scale?
a.2 b.3 c. 4 d.5

4. Which one is a discrete variable?

a. Age of students b. Family members V

c. Weight of fishes d. Monthly temperature in Dhaka city
5. Which one is Statistics?

a. Reni’s age is 16 years b. House number is 5.

c. Rofiq’s average monthly income is 20,000 Tk

d. The length of a pen is 5 inches

6. If X1 =1, X2 =2, X3 = -3, X4 = -4 then what is the value of
>x2?

a. -20 b. 16 c.30

7. What is the name of the term when division or
multiplication is applied for easy calculation?

a. Change of origin ~ b. Change of scale V

c. Change of origin and scale  d. None of them
8. Which one is the example of the finite population?

a. The number of mangoes in a box V

b. The number of riches in a bale

c. The number of pulses pieces in a bale

d. The number of mustard pieces in a bale.

9. The values of the variable is counted from that value which
is called-

d. 100

a. Origin\  b. Scale c. Sigma d. Zero
10. Which one is not a measurement of scale?

a. Nominal  b. Ordinal c. Interval d. Ratio V
11. If X1=-1, X2=0, X3=2 then which one is correct?
a.Yx=-1 b.Yx=1vV ¢ Yx=2 d.Yx=3
12. Which one is not variable?

a. Height b. Weight c. Age

d. Number of wheels of rickshaw
13. Which one is not a qualitative variable?
a. Blood group b. Personality
c. Religion d. Speed V
14. Totality of all possible objects which are of interest in a
particular investigation is called-
a. Data b. Population
c. Sample d. Variable
15. If X1=-1, X2 = 3, X3=1 then can be written as- i. > x=2
i, X1+ X2=1 iii.yx2=12
Which one is correct?
a.i&iiV b.i &iii C. il & iii d. i, il &iii
16. If X1=2, X2=4, X3=1 then what is the value of ) (4x-2)
a.16 b.20 c22 d.25
17. The raw materials of Statistical research is called-
a. Theory b. Data c. Statistic d. Parameter
18. The characteristics of primary data are-

i. Lesstime ii. Needs more people

iii. Needs trained and skilled persons
Which one is correct?
a. i &ii b.i &iii

c.ii &iii V d. i, i &iii

19. The data which are numerically expressed and measurable
is called-

a. Primary data b. Secondary data

c. Quantitative data ¥ d. Qualitative data

20. The kinds of data depends on the sources are-

i. Quantitative data

ii. Primary data

iii. Secondary data
Which one is correct?
ai&ii b.i&iii c. i & iii V d.i, ii &iii
21. The sources of secondary data are-
I. Education ministry
ii. Rice Research Institute
iii. The collected data from the field.
Which one is correct?
a.i&iiV b.i&iii c. il & iii d.i, ii &iii
22. If the data is collected from house to house then-
i. It will be Costly
ii. It will be reliable
iii. It will be more time consuming
Which one is correct?
a.i&ii b. i &iii c.ii &iii d. i, ii & iii ¥

23. Which measurement of scale is applied for addition,
substation, multiplication and division of data?

a. Nominal  b. Ordinal c. Interval d. Ratio
24. Which one is the interval scale of measurement?

a. Religion b. Satisfaction level

c. Temperature d. Income

25. Which one is the ordinal scale of measurement?

a. Marital status b. Economic status V

c. Temperature d. Height

26. Which is the characteristic of Statistics?

a. Aggregate of facts V b. Data collection

c. Data presentation d. Data analysis

27. Which is the limitation of Statistics?

a. Aggregate of facts

b. True in average \

c¢. Numerically expressed

d. Comparable and homogeneous

28. What is the name of the term when each value of a
variable is subtraction or addition by a particular value?-

a. Change of origin b. Change of scale

c. Change of origin and scale  d. None of them

29. The changeable characteristics is called-

a. Constant b. Sample

c. variable ¥ d. Population

30. The name of variable “ monthly income of 50 people” is
i. Quantitative variable
ii. Continuous variable
iii. Qualitative variable
Which one is correct?
a.i&iiV b. i & ii

C. il & iii d. i, ii &iii
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Dhaka Commerce College
1* Mid Term Exam 2020
Class: XI
Subject: Physics Subject Code: 175
Time: 30 Minutes Total Marks: 30

Multiple Choice Questions (MCQ) Mark Right Ans

Which is the example of scalar product?

. Work-done b) Force ¢) Torque d) Angular Momentum
IfA =2i-3j+5f(, B= -i -j, value of the scalar product of A & B is-

a)7 b) 4 g1 d)-7

I(I.( x ) x Rl vector is-

. parallel to X-axis b) parallel to Y-axis

c) parallel to Z-axis d) perpendicular to X-axis

Which is the projection of C on D?

a) Dsin® b) Csin® ¢) Dcos@ . CcosO

What is the magnitude of vector product of P & @ vectors,if P =M x N and @ = N x M?

a) -1 . 0 c)1 d) infinity

If C and D are two adjacent arms of a parallelogram, which is the following area of the parallelogram?
8 (€ x D b) [€ x D o C.D a) D]

The resultant force of two forces is 4 N. The smaller component is 3 N and acts in perpendicular
direction with resultant force. What is the larger component?

a)7N BIsN ¢ 1IN d)ON

If L.(M x N) = 0, the relation among L, M & N vectors is-

a) they are collinear b) they are parallel

¢) they are perpendicular . they are coplanar

Which is the following right perpendicular vector of (3i — 2K)?

a) (31 + 2j) b) -3i & 2j d) 2k

IfA= 2i +3j —4k and B = pi +9j — 12K, which value of p makes them (4 & B) perpendicular to
each other?

a)3 b) 4 ¢)5 @e

A man faces vertical rain fall of 5 m/s when he runs in 3 m/s. What is the angle of using umbrella with
the land to save from rain?

a) 30.96° b) 45° . 59.04° d) 90°

In two dimensional coordinate system. 7 is represented as 7= 3i + 4j. Then 7 makes angle-

(i) tan * (4/3) with X-axis

(ii) tan ' (4/3) with Y-axis

(iii) {180°- tan* (4/3)} with Y-axis

Which one is correct answer?

8o b) (ii) ¢) (i) & (iii) d) (i), (i) & (iii)

IfP <xQ = —R, then Q.R =?
a) Q Blo c) -1 d) P
Which graphical representation is right for X.¥=0? -

x x
a) b) <) = = d) - = 5
%4 ¥
What is the gradient of B at (0, 1, 0), if B= 4xy??
a)0 b) 1 S ED d) 7j
If |P + Q| = |P — Q|, what is the angle between two vectors of P & Q2
a) 0° b) 45° &l oo° d) 180°
Which vector has no fixed direction?
. Null vector b) Unit vector <) Right vector d) Negative vector
Vector addition follows-
(i) Commutative law (ii) Distributive law (iii) Associative law
Which is the following correct answer?
a) (i) b) (ii) ©) (i) & (iii) W ). (i) & (iii)

If C = 10R and D = SR, then C & D are—

a) opposite vectors b) null vectors €) unit vectors - reciprocal vectors



5 and 53 are the values of scalar and cross products respectively of two vectors, so angle between the
two vectors is—

a) 30° b) 45° 8 60 d) 90°

Divergence of the given figure is-
. zero b) positive

c) negative d) infinity

A will be rotational when-
a)V.A=0 b)VxA=0 V.A=0 Bv=xa=o0
The angle between of a vector and its unit vector-

o b) 45° c) 90° d) 120°

Give the right answer according to this schematic figure-
(i) FsinO acts along OA to get the boat forward
(ii) horizontal component decreases with increasing O

(iii) component FcosO acts along OB

Which is correct answer?

a) (i) b) (i) 8 ) & (i) d) (i), (i) & (iii)

A 20 m wide river of current 8 m/s and the velocity of a boat is 16 m/s. A boatman starts to move in the
direction of 30" with the flow of current. How much time required to reach the opposite side of the river
by the boatman?

a) 1.5 sec b) 2 sec 8 2.5 sec d) 3 sec

Position vectors of A and B are (1, -2, 3) and (5, -4, 2) respectively. Which is the following magnitude of

BA?
Bvz1 b) V20 ) V25 d)0

Which is the perfect position of an engine driven boat to cross perpendicularly of a 2 km wide river with
velocity 5 km/h when stream is in 3 km/h?

a) .5 . c) - )
130.5° 126.9Y 120.8° d) 120°

There are three statements-

(i) the gradient of a vector quantity is a scalar quantity

(ii) the divergence of a vector quantity is a scalar quantity

(iii) the curl of a vector quantity represents rotational behavior of it
Which is the following correct answer?

a) (i) & (ii) b) (i) & (iii) 8 (i) & (iii) d) (i), (ii) & (iii)

A lawn roller of 100 N weight is pulled by force of 20 N vertically with 30°, then the apparent weight of the
roller will be-

a) 100 N b) 90.20 N 8 82.68N d)20N

Which is right according to this figure?

a)P+Q-R=0 P+ Q+R=0 7 [
Ho0+R-P=0 )P-Q+R=0
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11.
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Multiple Choice Questions (MCQ) Red Mark Right Ans

What is the reason of zero charge of an atom?
a.  Number of proton & electron are same.
of opposite spin electron are same
b.  Presence of excess electrons
& centrifugal forces are equal

¢. Number

d. Centripetal

Mass of alpha particle is .....than that of electron
a.  Greater ¢. Much greater
b.  Lesser d. Equal

Which one is dependent on subsidiary quantum number?
a.  Number of energy levels of atoms
b.  The number of sub levels of an energy level
c.  Principal quantum number
d. Positions of electrons

Which screen is used in Rutherford alpha particle scattering
experiment?
a. Au b.ZnS c PbS d.NiS

If the value of subsidiary quantum number is 2, what is the value
of m?
a2 b3 c4 dS5

Which orbital is impossible to form?
a. 3f b 3d c2p dls

In which region Lyman series of H-spectrum is found?
a. Visible b.Infra-red c. Ultra violet d. Microwave

According to Hund’s principle what is the number of unpaired
electrons of oxygen?
a. 1 b2 ¢4 d5

On which atom Bohr model is applicable?
a.H" b.Be? c. Li* dHe

Which one is composite particle?
a.  Meson b. Alpha particle c. Neutrino d. Neutron

Which one is the right quantum number set of 2™ electron of
outermost shells of Ca atom?
a. n=4,1=0, m=0, s=1/2
c. .n=4, I=1, m=0, s=1/2

b. n=3, I=1, m=0, s=1/2
d. n=4, 1=2, m=0, s=1/2

According to Aufbau principle which one energy gradation is

right?
a. 4s<3d<dp  c.3d<ds<dp
b.  4d<5s<Sp  d.5s<5p<5d

Which type of compound contain the functional group —CO-O-
CO-?
a. Amide b. Anhydride c. Ester d. Alkyl cyanide

Which one is organic compound?
a. NaxCOs; b. H,COs c. CO» d. NH.CONH.

Who proposed “Vital Force Theory”?
a.  Wohler b.Berzelius c. Lavoisier d. August Kekule

19.

20.

21.

22

23,

24.

25.

26.

21.

28.

29.

. How many classes of organic compounds can be found on

saturation?
a. 2 b.8 c.6 d>s

vwase € the member of same homologous series?
a.  Ethane, methane, propene c. Ethene, propene, butane
b. Ethane, methane, butane d. Ethane, propane, butanol

. Which one is not an aromatic compound?

a. Benzene b. Pyridine c. Naphthalene d. Cyclohexane

Which one is the main constituent of natural gas?
a. DButane b.Propane c. Ethane d.Methane

Maximum use of natural gas in Bangladesh is for —
a.  Production of electricity c¢. As car fuel
b. Inindustry & factory d. In household use

Which is the formula of producer gas?

a. CO+H2 b.CO+3H2 c¢. COtN: d. CO+3N:
In which industry natural gas is used as raw material?

a.  Urea fertilizer b. Cement c. Electricity d. Glass

Which constituent is absent in dry natural gas?
a. Methane b. Ethane c. Propane d. Pentane

In which sector natural gas is least used?
a.  Electricity production b. As fuel
b.  Ashousehold fuel  c¢. Urea production

Which one is not correct for bituminous coal?
a. Itmaybesoft c. Fixed carbon is 44-78%
b. Calorific value is 11000-15000 d. It is brown

1 BTU=....... Calorie.
a. 1005 c. 1055
b. 252.145 d.152.252

Which one is not present in cement clinker?
a.  Di calcium silicate
b.  Tri calcium silicate
¢.  Tri calcium aluminate
d.  Gypsum

Which salt is used in pickling step?
a. Calcium chloride
b. Potassium chloride
¢.  Sodium chloride
d.  Sodium sulfate

Which one is not present in leather tanning?
a. Curing c. Annealing
b. Pickling d. Liming

Which one 1s the best fuel based on calorific value?
a. Peat coal
b. Lignite coal
¢.  Bituminous coal
d.  Anthracite coal
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Multiple Choice Questions (MCQ) Tick Mark Right Ans

1. When the primary wall is absent on the middle layer, the
formation of narrow and cylindrical pore is called-
. Lamella b. Cell vacuole c. Pit v

. In which organelle, autophagy occurs?

. Ribosome b. Lysosome \ c. Idiosome
. What is the name of irregular folds in mitochondria?

_Lamellae  b. Cisternae c. Cristae Y d. Chromatin fibre

. Which is the function of microtubules?

. Acts as a carrier of lipids and proteins

. Helps to separate chromosomes by attaching with the centromere v

. Engulfs invading germs

. Indicates the arrangement of microfibrils

. Why the carrot’s root is colourful?

. Due to chloroplast b. Due to leucoplast

. Due to chromoplast v d.Dueto amyloplast

. What is the granular substance on the wall of endoplasmic
reticulum?

Gene b. Vesicle c. Lysosome d. Ribosome Y

. Who controls the pre-determined death process of cell?

. Mitochondria v b. Chloroplast c. Ribosome  d. Nucleus

. Which part of chromosome is called the ‘nucleolar organizer’?

. Primary constriction  b. Secondary constriction Y

. Telomere d. Kinetochore

. Which is the secreted substance of plant cells?

a.Nectar V' b.Protein  c.Latex d. Resin

10. In case of fine structure of cell wall-

i. The main chemical component is cellulose

ii. Micelle contains about 150 cellulose molecules

iii. Water content is about 60%

Which one is correct?

ai&ii bi&iiN cii&iii d.i,ii &iii

11. Basic colour containing thread-like structure within the nucleus
is-

i. a spherical structure during cell division

ii. positioned like a reticulum

iii. divided into separate thread like ribbons or rods

Which one is correct?

ai&ii  bi&iii cii&iiV d.iii &iii

12. The nucleus of a cell is absent in-

i. plant vessels and sieve tube

ii. white blood cells iii. some eukaryotic cells

Which one is correct?

ai&ii b.i&iiV cii&iii d.iii &iii

13. When histone protein attached with DNA, what is it called?

a. Heterochromatin ~ b. Euchromatin

c. Nucleosome d. Chromatin fibre

14. What is called a circular region with numerous tonofibril fibres
in some part of cell wall?

a. Pinocytic vesicle  b. Phagocytic vesicle

c. Microvilli d. Desmosome V

15. What is the nature of ribosome in prokaryotic cell?

a.60S b.705V  ¢.50S  d.30S

16. Which is incorrect?
a. Leech- Parapodia

c. Apple Snail- Radula

d. Chamber

OO D UNOOT DR~ WL NV

©CO P oo N

b. Jelly fish- Water vascular system \
d. Prawn- Malpighian tubule

d. Centrosome

17. Who is the father of Trinomial Nomenclature?
a. Schlegel v b. Carolus Linnaeus
c. Aristotle d. George Benthum
18. In which phylum, haemal and perihaemal system are present?
a. Mollusca b. Arthropoda
c. Echinodermata vV d. Annelida
Read the stem and answer the question:
P- Fasciola hepatica
Q- Loa loa
19. Animal ‘Q’ in the stem belongs to which phylum?
a. Cnidaria b. NematodaV c. Annelida d. Platyhelminthes
20. Polyp and Medusa phase found in-

a. Porifera b. Mollusca . Cnidaria ¥  d. Annelida

21. Presence of Trochophore larva is the characteristics of which
phylum?

a. Porifera b. Arthropoda c. Cnidaria d. Annelida \

22. Which is not correct?
a. Astropecten irregularis - Echinodermata.
b. Pila globosa — Arthropoda \/
c. Taenia solium — Platyhelminthes
d. Hydra vulgaris — Cnidaria
23. The excretory organ named ‘flame cell’ is found in which
phylum?
a. Mollusca  b. Cnidaria  c. Nematoda d. Platyhelminthes \
Read the stem and answer the question:
A- Hydra, B- Cockroach

24. Which type of symmetry found in animal ‘A’, mentioned in the
stem?
a. Radial V b, Spherical  ¢. Asymmetry d. Bilateral
25. In case of phylum Porifera-
i. animals with cellular structure
ii. adults are active
iii. porus animal
Which one is correct?
a.i&ii b.i&iiV cii&iii d.i,ii &iii
26. In case of Nematoda-

i. Tube within a Tube

ii. Sexual dimorphism

iii. External suckers
Which one ic correct?
a. i &iiV b.i&iii c.ii&iii d.iii &iii
27. In case of Chordata-
i. Notochord present at some stage in the life cycle
ii. Blood circulatory system present and open type
iii. Endostyle present in the floor of pharynx
Which one is correct?
a.i&ii b. i &iii \
28. Symmetry is-
a. Stage of three germ layers
b. Anatomical position of an animal on the basis of any axis \
c. Position of similar segmentation
d. A method of division of an animal into many regions
29. Which one is Asymmetrical animal?
a. Hilsha fish  b. Star fish c. Hydra d. AmoebaV
30. Calcareous tiny spines named ‘Spicule’ is present — the
characteristics of which phylum?
a) Mollusca  b) Cnidaria
¢) Nematoda d) Porifera \/

c.ii &iii d. i, ii &iii



AT wo G

BIFT T TS

3T 3@ Bif #1020
@& 9w
T Twer aifte RET @E: 2v¢ € vy
’[‘f’lﬁ:\’:o
(11 8T BT SIS AT BE)
1 1 -3 1 2 3
. A={3 -2 4 | oficze @i 10. A=4 5 6]a(2.2) = sfea wgafa v
2 2 1 7 8

a)-3 b0 ¢l d)3

2. A T 3 A7 97 T
e ~4 B ?

7 9 7 -9 7 -9 -7 9
a) b) c) d)
1A S e S T et
1 00
3. X={0 1 0= Xeafd-
001
1. o
il T TGE
i, FTIfE RE
T ARSI WK (G AT 7
a)i, it b)i, i ¢) i, in d) Lo, i
4. @ 3 ufiree Sowmern a.,-{&"_>j_
0i<j
e TlhE ?

a) =4 iy b) freeree wiy o) = iy
d) @7= iy

T ot @™

5. B=[ zl]m,aﬂnﬁmmﬁwﬁy

a)l B2 ¢3 dlixl

6. feils mnfiw A, B 9 C @@ &= 2x3, 4x 2« Sx47™
CBA 97 &g &7
a) 5x3 b) 5x4 ¢) 2x5 d) 4x3

7. o A w=ff Ix3wew wiiy @, er Al @ W fs
@ity
a)3A b)-A c)3Al A

300
8. A=|0 4 0|esf-
005
i. effe G
i CFeTE WEE
iii. = G
BN ARSI AT (TG AT 2
a)i il b)i, i ¢) i, it d) i, ii, il
a-3 -l

9. #f
-8 a+4

™ TS
2)49-5 b)594 ¢)3 d) 10

]mmmwm a @

12

13.

14.

16.

17.

19.

a) 30 b)-12 ¢) 12 d)30

1 x+y| [8 10
- M, y 7 TN IS TA?
|5 x-y

a8 b2 o7 d)s

LT 2UM =2

1 0
M=[0 1
0 0

1
a)2l b) 2190 ¢)2 d)12

4+b b)l ¢)0 d)at+b+c

a 2 -3
M=|¢ 7 b
-3 6 8

T FE?
a)6 b) 12 ¢) 16 d) 20

wefs eferm afiw o9, g+ bh+c 92

. M= (x ;J w2 7w sfewy s o9 x —r 93 3w T

r

a)jd b)6 ¢)-4 d)-6
sinf € cos@ 4z ¥ 74 FIH-

a)-1 7@ 0 b) 0 iz 1 ¢) -1 = 1 d) —o0 & o

o frgrem 7815 g wwmra 67"51°51" «=x 42°8'9" 7w
wEw c@efba T ferns w5y
a)_5£ b X 02 g1z
18 I8 ) 18
120" c= fedire sem s @it aa?

b o - . 1Y
= b)30° ) 60° ) | —
a)(7) ) 30° ¢) )(30)

feem 4 1 2] fafed wfen v I ¢ fafadw R TGadr
@R ofaam we?

a) 4.5° b) 2.5° ¢) 425" d) 3.5°



20. A

12
Q 30. sm(——&)—— % sec ) a3 ¥ wy
/) 5 2 13

_b_ fm
)12 )13 12 )144

Bt quen Wenes AOB 48w (e ¥v?
s 2z ir
— b)=¢)27 d) —

a)2 ) 3 ¢) 2z d) >

21, sinB:%,dm cos O ¥ BefaR e tan O ax v v

-12 5
-—b— —d—
)12 )13 )13)12

22. sin 30 @3 STECY (5 W w7
a)-1 bl ¢)0 d)-2
23, aefb firgrent foe cometa wome 2:4:6 -
i.wm%m
ii. fagafs et
iii.ﬁ-awmﬁi;-m
@mmﬁammaﬁw

24. 3cos(x+30") -1 a3 1chm w1 wer
a)l b)3 ¢)2 d)S§

25. 2sin’(dx +5) a o w2
a) 27 b)% c)41rd)%

26. fareififore et sfrmn e Ay oafe @
a) e b) 987 c) ¥oPrE d) resen

I\ /

SﬂmcaIvaﬁmmm [0, 27 ] =nefure
wsfes | farmafifes wnee fosa cafS?

a) sinx b) sin2x ¢) cosx d) tanx

X

28.

Borame crafea® a=f farerafifeos wreem o [0, 20 ] @mafacs
wfey | Te wrefaces o =31 ares o wee?
a) 2 b) 1 c)4 d)3

29. sec’(—Tx+5)maﬁuﬁmmﬁmc¢me?

a) 27 b)zT” N e P



Dhaka Commerce College
1% Mid Term Exam 2020
Class: XI

Sub: Mathematics

Time: 30 Minutes

Sub Code: 265 & 266

Total Marks: 30

Multiple Choice Questions (MCQ) Red Mark Right Ans

1 1 =3
1. Findthetracc of the matrix A={3 -2 4
2.2 -}

a)-3 bo

<)l d)3

59 }
LIfA= Lthenfind A .
4 7
79
¥4 s
< 7]
<)
4 5
1 00

30X=10 1 0/, thenXisa-
0 01

1. diagomal matnx
il scalar matrix
11, sdempotent matrix
From above which of the following 1s correct?
aji 1 b) g, 11
chii, i dig, m, ia
. . { 0i>j
4. If the entries of a square matnx: a, = . then
i<y
the matnix is of which type?
a) Diagonal matnix

<) Null matnx

b) Tnangular matrix
d) Unit matrix

2
5. lfB=[ ]].lhcnhowumuymwsmthatinlhe

matrix B?
a)l b2
c)3 dy Ix1

6. If the order of three matrices A, B and C are 2x3,
4 x2and 5x4 . then which is the order of CBA?
a) 5x3 b) S5x4
c) 2x5 d) 4x3

7. If A s a matrix of order 3% 3, then which of the
following is equal of Al,?

2) 3A b) -A
c)3 Al di A
300

8. A=|0 4 0lisa
005

1. symmelnc matrix

u scalar matrix
nis diagonal matnx

From above which of the following 15 correct?
aji, u b) 1,

c)u. i dy i, i, m

[0-3 -l}
9. If s a smngular matnix then find the

-8 a+4
valucof @.
u)d or -5 b)5or 4
)3 d) 10
1293
10. fFA= 5 6|, then find the minor of (2,2)-th
7 8 9
a) =30 b -12
c)i2 d) 30
I x+y| (8 10
1. If = , then which of the
3 6 S x-y
followang is the value of y 7
a) 8 by 2
c)7 d)s
1 0
1.1 M=[0 1 0f, then 21M* =7
0 1
a) 2l b) 2190
c)2 dy12
2
13. The value of 2 als
2 b
aj2+4+b by 1
c)0 djatbrc
a 2 -3
4. 1fM=| ¢ 7 b | s asymmetric manx then
-3 6 8
find the value of a+b+c.
a)6 b) 12
c) 16 d)20
x 4
IS. IfM - 0 15 a skew symmetric matnx then
r
X=r==2°
ajd b)6
c)-4 d) -6

16. The values of SIn# and cosf always lic between-



a)«l1tal b0l ¢) -
Il d) =0 o ®

17. If two angles of a triangle are 67°51'51" and

42°8'9" then which is the vakue of the third angle
in radian?

.)5—” b)i
18 18
)21! 9 x
c - ——
5 18

18, Express the angle 120" into radian.

a) (%) b 30°
60" d) lJu
" 30

19. Find the angle between two hands of a waich when
time 35 4:21 pm.
2 4.5°
<) 4.25°

b 2.5
d) 35"

0.

From the above circle find the arca of the
circular segment AOB.

x 2

V7 o
iz

c) 2x d) ——
2

: 3 : i
2L If sm0=ﬁ and cosé having the same sign,

then which is the value of tan 7
s e )
2) — —_— c
I2 13
2
12 d =
13 12

22. Which of the following 1s the mimimum value of
sin3g?
a) -1 bl
c 0 d) -2

23. If the rtio of throe angles of a trangle is 2:4:6,
theo-

i the smaflest angle s % rndian
ii. the trangle i a right triangle
i, 2* angle is -;5 radsan
From above which of the following s correct?

aju b), ini

<) i, i d) i, i, tie

24. Which is the maximum value of 3cos(x +30")~1

?
a)l b)3
c)2 ds
25. Find the period of 2sin’ (4x+5).

0) 2x b)

c) 4r

]
FN T

26. Which system is used to measure the angles m
Trigonometry?
a) Centesimal
c) Sexagesimal  d) All

b) Circulur

v

v
X

N
1U

The graph drawn above is a graph of a
Trgonometric function which has been drawn on
the mterval [0, Z:r]. Which of the following is
the mentioned function?

v

b) sin2x
d) tan x

) Smx
¢) COSX

L

v
X

N
jU

The graph drawn above 15 a graph of a
Trigonometric function whach has been drawn on
the mterval [0, 27]. How many real moots are

"‘

there on that interval?
n)l byl
c)d d)3

2. rauumamaa&(%’d].

2T

2r by —

a) ) 3

c) b7 d) 3r

k1) lfsn(f--ﬂ):'lz.lhm secl =7

2 ) I3

a) -5- b) E

12 13
¢ E d) '2—5
12 144



